F_FHESETERRBREES (L)

H=Fid@ B
it S -2 == - S - ¥
FEER

VLR S ) BRI 2 U S A L O W A 4 T B Rl G X I

AR :
2. R S A6 UM P 2B B4 B0 5 A i S 4 0 S —————

WHE RS E RS TEBT T T Bl % bRl ]
3. 40 R 5 M5 145 D 0 5RO B A 2 1 5 045 % % 6l

5 12 K T TE B R R % BT I O
A PR R T I AT S AR R O (7] Eag=1!

—ETH, (5 1%5.,28 )
1. (D
(2)

(3
(4)

3.1.476 () 1.47 8.5x1.01 () 8.5

4.940.1 () 4.9—0.1 7.4%0.1 () 7.4=10

10.

ZFlETE, (54
L. 2. 3. 4. 5.

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

= GEEE, (10 )

1.[A] [B] [C]
3.[A] [B] [(C]
5.[A] [B] [C]

[D] 2.[A] [B] [C] [D]
[D] 4.[A] [B] [C] [D]
[D]

M, (24 %)

1. (4 4

2.(6 %)

27.6+4.47=

3.8 4

52.7—19.46—1.54

12.5X4.6X0. 8

100.01—21.9= 8.06 X7.5=

8.45—3.26+4.74

2.8X3.6+6.4X2.8

=)

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL




T 0 2 KA 2 o 60 30 R DX 2 % K I M 2 S0 12 L o L6 00300 M L X0k 2 5 T

4. (6 5 2.(8 %)
=100 15 3m=90 m—2=48 (D2 5 9 GORE | BRI | el | 9ok
(T %) 19. 8 35.69 3.45 8.6
FHRESE, (95 (2)(4 4
1' (3 éj\> . . . . . . . . . . . . . . . . L] L] . . L] . .
— 1T T S . ., 2
SEAT UL BB i 3. (4 2)
2. (6 %)
IR E i AT
4. (6 %) B | oo | meEd | mwk | Rk
NJRRET, (24 49 o /A 120 200 140 180
1. (6 5) (D (2) (1)(2 %) ¥/ A (2)(4 2
200
R/ NI ¥ NI Y. NI 1V N 200r
L 1 1 1 1 %§8:
ooy e e
140
K1 K2 130F
120
110
100
O I I I I I I I I
O S O E
oK o
Kk %k K %
T T 45 1A 25 R0 X de PN A 255, o B 0 T 0 HE R S X 3 A 28 8 e Rk TR FE 45 L 1A 285 R0 DX 3 P V28 i B 60, 0 1 0 HE BR S8 [XC 388 19 2 58 B3



E_FHEETRETHEREEZES (1)

#HERE HEa

HE 44 Ea5 557
EEEM :

LRI % o0 B B BRI 4 L U N A L OF W A 4% S R I X I,

ALE | |
2. R S A6 UM P 2B B4 B0 5 A i S 4 0 OO i

WHE RS E RS TEBT T T Bl % bRl ]
3. 43 2 M D 1 2500 B A 2 e 250 X 05 % =

1 R R 1 B R R R i 50
A PREFE R T AT S AR HERHUA 7] EmE=111]

—\iﬁgo (20 §J\>
1.

2.10.20 () 10.02 1.7%0.9 () 0.9 305>0.01 () 30.5+10

3.

© ® N2

(D
(2)
10.

11.
12.
13.

14.
15.
16.

17.

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

“HIT, (e s BTV A AT X)) (4 50
.. 2. 3 4

=%, (10 29

L[A] [B] [C] [D] 2.[A] [B] [C] [D]
3.[A] [B] [C] [D] 4.[A] [B] [C] [D]
5.[A] [B] [C] [D] 6.[A] [B] [C] [D]
7.[A] [B] [C] [D] 8.[A] [B] [C] [D]
9.[A] [B] [C] [D] 10.[A] [B] [C] [D]

m.it&E, (33 5

1. (4 %)
2. (4 459
63.23—54.95= 18.4X0.026=
3.(12 29
3. 746.3X0.12 0.25X64X1.25
13.25—5.07—2.93+4.75 8.3X2.6—8.3%X1.6

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR

4. (9 5
2x—8=16 x+—6.5=8 S5x+6=36
5.4 ) 2F 5%
I I IAI \I x J&HK 440 cm
—
aT 7 1775
L ERBEENA, 9459
1. (3 4 2. (3 )
@D)
(2)
(3)
3. (34
fIRI] b e
INJRIREIB, (24 5
1. (8 &)
(D (2)
(3) 4

T A A5 L 0 25 P DS N A 2 R D TR (A R T A IR DX SR 2 R TR AL

J

)=

\
/

TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

2. (16 ) (1)( ) (O« )= (

(2)

(3

4

T, (10 )

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




F_FREEHTKRTHREES(+—)

HERE  FEg
PER 1 44 =85 1351
EEEMW

LRI S0 B BEEE  L  BUS E AE L OF W U ST R 1 X 3

ALE | |
2. PRI S AU 2B B 4 OO 5 I T %A 43 0 B OO0 PO OO PO f

WIHE R E RS TERT TR T % EBwE, R pRIC ]
3. 4 W R M4 25RO Sk 225 O 50 X015 ]

1 G TR A SR AR A s BT i
A AR T AR AR RO ] o e

—\ﬁ/i\iﬁo (% 7\8 7@%2 Sl 9&%‘}%7‘; 1 67\7 /\'H’ 26 57\)

1.

2.

5.6 5.7 5.8
t f

3. S N S ) ) I I I

6. > = =

7.

8.2.5%0.9 () 2.5 3.34x1.01 () 3.34

5.36x1 () 5.36+1 4.7X944.7 () 4.7X10

10.

11.

12.

13. (1)
(2)

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

T HE®E, (HE 15 E0 T )

L[A] [B] [C] [D] 2.[A] [B] [C] [D]
3.[A] [B] [C] [D] 4.[A] [B] [C] [D]
s.[A] [B] [C] [D] 6.[A] [B] [C] [D]
7.[A] [B] [C] [D]

= HKeHE, (84+6+9+6=29 %)

(&M 1 4 ,% 84

2.37+1.25= 8.9—2.35= 6.3X1.05=
3.(FMA3 5, K99

4.5X5.2+4.5X4.8 0.25X0.7X4 26.2—6.2X0.5
4. (FFA 25,356 %)

T+x=16.1 46+3x=133 8x—7.5=16.5

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR T T A5 L1 20 R DS A 1 2 o S (B TR 00 E B E DX P 2 3R TR A

M. ELSE, (X 10 4 ,4+6) 4
1. (4 5> X X X T8 5 FBE
— TAET AL SEHI/N 201644 H 26 H
] 1% RS EEY Y
R 7 4 1 22. 00 ( -
7 o TR
M EHANRT CRE) SAHRIE Gt )
2.(2X3=6 %4>
[ ] [ ] [ ] [ ] L ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] L ] [ ] [ ] [ ] 5‘(1)
22.5
. (2)
H.HEE2H, (4+4+4+4+6+6=28 %)
1.
6. N A NG NS | N AN | N | | NE | i | N
BE/EK | 132 123 134 118 132 120 121 126 129
W&/ T7 | 25.5 | 23.5 32 19 25 21.5 | 19.5 22 29.5
2.
(D) —FERINNBRH( VEESITE
( )
( )
( )
( )
( )
( )
3 ( )
) ( )
( )
(2)
TR 5 5 BT X 3R, P Y B R 0 R X 10 2 2 Tk TR 5 T 1 225 BT X350 P 2 Y L R W 30 R 5 X B0 10 2 2 Tk



E_FHMAKTEZERREEZSE(+2)

HERHE FEg
HE 44 Ea5 557
EEEM

LRI % o0 B B BRI 4 L U N A L OF W A 4% S R I X I,

AT
2. R S A6 UM P 2B B4 B0 5 A i S 4 0 e

WHE RS E RS TEBT T T Bl % bRl ]
3. 43 2 M D 1 2500 B A 2 e 250 X 05 % =

1 R R 1 B R R R i 50
A PREFE R T AT S AR HERHUA 7] EmE=111]

—\ﬁ/i\ﬂo (14 57\)

L[A] [B] [C] [D] 2.[A] [B] [C] [D]
3.[A] [B] [C] [D] 4.[A] [B] [C] [D]
5.[A] [B] [C] [D] 6.[A] [B] [C] [D]
7.[LA] [B] [C] [D]

—EEE, (245

1.

2.0.02 () 0.19

7
15 O 0.7

52.1 () 5.21

10.

11.

0.01x10 M () Fem ik

2.3+5.07 () 5.3+2.07

0.87x1.2 () 0.87x2.1

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

12.
=ak | A AN AN AN o
s RIS | 3 5 7 e
= EeH, 289
1. (8 5%
2. (6 %)
300.4—19. 34= 2.35+486.5= 8.7X0. 14=
3.8 %)
13X4.740.9 8.36—2.48—3.52
7.5—7.5X0.8 2.7X2.25+7.3X2.25

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR

4. (6 2

4x=36 2y+7=91 Sm—2=24

MW EKS®EE, (115
1.(2 %)

2.(6 49

] A i i

(D

(2)

(3)

E.RELSHBREB, (23 4,4+4+4+4+4+3)

(2) XL

y &
>H§ATF
\3-[_\_Y_/

b

2

=

T A A5 L 0 25 P DS N A 2 R D TR (A R T A IR DX SR 2 R TR AL

J

)=

\
/

TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




E_FHMAKTREEEREEZSE(+=)

Lo

=i

IO N e e A SR U N AN e R R I T S

AEN

2. PR 23 wn S 28 A 28 SR U 5 Sl 0 38 RO S 00 i PR 40 E

WHME R ERETERS PR TR ELEE.
T I R I A 5 R R 2 A DX A A R R X I A
B B2 SO A B R AR U A R

w

A PREFE R T AT S AR

A

#EA, e

BREFRIC [

H & = fi
IE 7

R IR 7] Enf=]ix

—EREEHERNFERSERESTER L, (X 14 5)

L.[A] [B] [C] [D]
3.[A] [B] [C] [D]
5.[A] [B] [C] [D]
7.[A] [B] [C] [D]

2.[A]
4. [A]
6.[A]

[B] [C] [D]
[B] [C] [D]
[(B] [C] [D]

ZVERBEREREES

1.

2.(D (2)

(3) (4)

3.(10.705 () 1.075

(3)0.75%x1.1 () 0.75X0. 98

MK, (22 )

(2)75+100 () 0. 075X 10

(D axX 1. 1=b. 824 a () b,

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

ZEREEIARLE—&, (k24 5)

1. (6 %)

2.(6 %)
x—3.1=4.22

3.(12 49
2.6+0.6X1.4

7.2X0.11—0.11X2.2

3x+2.4=26.4

7.41—0.45+3. 14

0.25X12.5X32

mOERESER EE—H. B—E, (3£105)

1. (3 49

&=

IE 1

i) AT

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR

2.3 %)

(D

e

HVERESETER LBREB, (% 30 5)

1. (4 4%
(1
(2)
2. (6 49
. CEDED _ETD
- 17T

Tt

3.4 4
(1

(2)

T A A5 L 0 25 P DX PN A 2 S € T i A R DX ) 2 SR TR AL

J

)=

\
/

T T A5 L1 20 R DS A 1 2 o S (B TR 00 E B E DX P 2 3R TR A

4. (6 4
(D
1224 FiAel At 12
13.5%  [x] 17. 5
2)D
@
5.(6 4%
(k—) (22
wws/e |6 | 7| 8 | 9 | 10 Fi/ Y 6 | 7] 8 ]9 |10
KB/ T(BA) | 21 | 24 | 27 | 30 | 34
Wi/ To | 17 ] 20 | 22 ] 24 | 30 RE/ T (dA) | 20 | 23 | 25 | 28 | 32
25 N e w486 ~ 105 K E ST E
( )
(2) ( )
( )
(3) ( )
21
18
15
0
6 7 8 9 104545 / 2
6. (4 )
0.1 0.2 0.3 0.5 | 0.6 | 0.7 ] 0.8 0.9 1
1.1 | 1. 1.3 | 1.4 | 1.5 | 1. 1 1.8 | 1 2
2.1 | 2.2 | 2.3 | ceeeee

=)

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL




TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

o — A — 3 > 3 — LY 73
FFHWATERTHEREES(+M)
Wp SAZ a_ts 10.
TESS T
BE 4 =282 1557 11.
3 B 12.
EEEW | |
L AT 2 S O BESE I 4 2 U TR O W A ST T B U X B
T : :
. L HR LS S TG 1) 213 A OO ¢ B i 6 1 O S ————— 5 ZERE—E, (k245
IR I R T BT TR T B e . R
. A P 25 B 2 0 125 B X B BB % Bl L. (6 2)
028 T AR R L A T 9 1
4R R G S AT S AR . R O (7] n =0
— B, ERIEEHRERNFTERESERESTIR L, (149
2. (6 49
1.[A] [B] [C] [D] 2.[A] [B] [C] [D]
5.[A] [B] [C] [D] 6.[A] [B] [C] [D]
7.LA] [B] [C] [D]
“EFE,ERIBEHEREEZTIRK L, (&£ 23 5)
L.(D2.2()2.02 (2)4.87x0.99 () 4.87x1
3. (12 2~
(3)5.2 T3 ()5 T35 20 3% (4)6.35X4.4 () 63.5X0. 44
4,72—3.58+3.12 0.64X7.4+2.6X0. 64
2. (D)
(2)|||||||||||||||||||| | |
0.8 0.9 1 I 1.1
3.
A 7.2+6.25+2.8+3.75 1.3+4.7X0.6
5.
6.
7.
8.
9.
TR A5 AT 285 R X3 P M 25 o B 0 5 30 HE B s X0 ) 2 8 T AR T 5 R ) 25 R XIS N VBT B 0 O i A R X ) 25 2 B A



TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR

mﬁ%’fﬁ(ﬁg%ﬂz&iiﬁ_ﬁ;@_@o (‘;H:_ 10 éJ\)

1.(3 )
]
i i T
2- (3 h\) L] L] L] L] L] L] [ ] L] L] [ ] L] L] [ ] L] L] [ ] L] L] L] L] L] L]
L] L] L] L] L] [ ] L] L] [ ] L] L] [ ] L] L] .B L] L] L] L] L]
L] L] L] L] L] [ ] .A B. L] L] [ ] L] L] L] L] L]
L] .A L] L] L] [ ] L] L] [ ] L] L] [ ] L] L] .A L] L] L] L] L]
AR AT TE Wk
3. (4 5
3x+30=180
X
........................................................................
RHET: ) }
H4204
e & T
~ J
3x

HOERBREE, (%29 %)

1. (6 5%

]

Bk

L2 TRFmEL 1 TR L o

16.8X2+43.2X2

A£ 50 JUK—> 8 T s H AY P4 I, i 4% 0] 22 0 8k 7

T A A5 L 0 25 P DS N A 2 R D TR (A R T A IR DX SR 2 R TR AL

J

)=

\
/

T E A5 0 AR 5 DK SN A D PR A R TR T PR DXk A 2 R TE A

2.(6 %)
(D
2 4.5 5 1.5
2. 30w, x| B13.8
2 B
47| ¥ I AMEE (3.2
(3
3.(5 %9
D M (1) BEE) 5 E AR 4R 15 05 e 3 B
it/ T
2
(2) 30— 15 28
(3) 25
20
(4 15
10
5
0
A Bl = gl A
4. (4 5
(D ARG ]
HAB: | [ ]
(2)
5.4 49
6. (4 %)
(D
(2)

TR A A5 A 114 220 AL DX DA P 27 S (S T 00 HE R A DX Y 2 3R TR AL

=)




TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

E_FHEMNTILUTHEREEZS(+3)

JTER, (3£ 31 %)

HrlE At
L&A1 45,3645
PG 44 T Gy
EEER

L Al ) O RS 4 2 BT A O W g ST TR I B0 5
2. 3 BRI 4 06 AU 1T 213 4 B 3 i A 1 28 s e | 45. 93439, 77— 100—26. 01 = 1554 8=

S 508 PR A TS TR T IR B RRIE : : ' : :
3. A P 5 X B0 2 12 X B B % % bl

5 28 T T AR IR 1AL T 1
A QRAF R AT AL R O (7] Eag=1!

—RmEE, (HFE15.%19%5)
1.
3.(H A3 45,3499
2 21—11.37—8.63 0.41X99+0. 41 65.4—25.4X2
3.(10.99 () 0.909 (2)2.3%0.87 () 2.3
(3)5.6x65 () 56x6.5 (40.36x100 () 3.6+100
4.
4 AL S 295
: x~+—10=19.9 12. 24+ y=37. 24 21lx—73=2368
7.
8.
9.
10.
M B TR, (312 5)
SRS, (A2 5.4 125) LG4
1.[A] [B] [C] [D] 2.[A] [B] [C] [D] (D7) c e e .
3.0A1 [B] [C] [D] 4.[A] [B] [C] [D] e B )
s.[A] [B] [C] [D] 6.[A] [B] [C] [D] c oo c e oo

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR

2.3 %)

(D

(2)

15K

H BREIE, (X265

1. (4 59

2.(5 %)

EEAIEN

5. 7FK

AR bl

T A A5 L 0 25 P DS N A 2 R D TR (A R T A IR DX SR 2 R TR AL

J

)=

\
/

T E A5 0 AR 5 DK SN A D PR A R TR T PR DXk A 2 R TE A

3.(5 49
4. (549
5.(7 )
Eg — - = pg H Ay
J5e] 152 Hi0 i () 40 50 70 80 100 110
(D1 %) LN FREREAFRIEZESKIT
110 Hm () . 110
o 100
(2)(3 %% 28
70 0
W
(3)(3 %) 40
30
20

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




FEFHBEMTUBHEKBEREES(1T71)

AEN

B B2 SO A B R AR U A R

S th 3t B H
S Fual
it S -2 == - S - ¥
EEEM
LA 2 e RO BEGE 4 L2  US WE AE L OF I I A ST I X I
2. R S A6 UM P 2B B4 B0 5 A i S 4 0 e
WHE RS E RS TEBT T T Bl % bRl ]
. L 1 00 X B A 102 6 o250 X 03 E 2 %
TF A 15 75
HEREUR ) EmE=111]

A PREFE R T AT S AR

—\iﬁgo (&ﬁ 1 57\’;0‘5‘ 21 57\)

1.

2.

wn

10.

11.

12.

5.54+2.6 () 5.5+6.2

5.3%x2.1 () 5.1X2.3

9.3%0.4 () 93x0.04

—Fr, WMHMEY”,BHEX”, (H4

1.

2.

&
=
%
3

(al
%

3. 4. S.

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

S ERE#E, (FAl S
L[A] [B] [C]
3.[A] [B] [C]
5.[A] [B] [C]

549
2.[A] [B] [C]
4.[A] [B] [C]

miHE, (325
1. (8 4%

2.(6 %)

4.53+26.8=

3. (125
13.25—5.07—2.93

3.7+6.3X0.12

4. (6 5

x+2.3=6.2

0.48X150= 30.02—12. 8=

0.25X32X1.25

8.3X2.6—8.3X1.6

12+7x=26 122+2=36

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

HOGBEESLE, (10 9) 4.
1. (6 ) IR i A1
2.(2 49 3.(2 49 P s ()
3 .
o GRS
XJG XTL XJG 12.87C
Y 3* ““‘ "—“'_..—“
108. 87C K
/) n

(2)
N.EFEA,EROEAE, U4+4+H4+H4+5+6=27 5
1. 6. (6 )

/N BN | B U | =N | BN | BN | SN/
i/ T 20 15 21 15 16 21

@)
2.

(2)
3. (3)

PRI AR AN 102.5 J0
JLE M
TR 4 L 14 25 R X P R S B R T 0 HE R X R 1 2 48 AL TR 5 L 14 225 BT X 35 N 10 25 B T 0 E R DX 80174 2 8 TE AL



- e s B A 72 6 36 0 0 B i X 00 6 T
F_FHEBREMRRE(+E)

. = WHE#E, (36 %)
HFEWE A
1. (8 4
PEk I 4, i 5
EEER -
L. SRR % S0 O RO BE S I 4 2 S T A L O U A A e
iacH : 1
2. VR FEBIH 4Y A AURE T 2B % 4 MU « I b % A3 45 0 2B 6 e :
WHE RS E RS TEBT T T Bl % bRl ]
3. T2 TR R I 5% A 4 G 1 A2 I S5 P A 2 4 1 2 IX B =i =] 2. (8 &)
5 1 25 98 T 1E B AR IR 1 B RIERS
4R R T ST S B R ] O] o] (o] e300 5.840.72= 12.76—8.89=
—JEFEE, (10 )
L[A] [B] [C] 2.[A] [B] [C]
3.[A] [B] [C] 4.[A] [B] [C]
5.[A] [B] [C]
450 X0. 28= 1.42X1. 1=
—ET#E, 314
1.
2.
3.
3.8 4
4 14.61—6.78—5. 22 48.5X99+48.5
5.
6.
7.0.2 % () 2 Xk 4.95%x0.9 () 4.95 10.1x0.1 () 10.1+0. 1
9.4X[0.96X(5.4—0.9) ] (8+0.8) X1.25
8.
9.
10.
S 4% B A 25 K I P PR R L B T 0 HE BRI I 25 R TE Ak TR A 25 LI 280 FOL DK 3 P A 2 o R 0 56 T T AE B S DXl 1) 28 58 TE K

J
=
=



1 5 2 XA 2 1 0 T 0 R R 2 28 A1 P X R 25 06 0 R B 0 285 2 R

4. (12 %) 2. (4 4
4.88+x=20 120+4=64
x+5.2X3=20.4 x+0.9=1.8
3. (4 )

MM SEBEE. (42

N A Lo

HRE/ T oK

B =M HM =M S =MIE Blifh = fIE SEHE =P 3

FEREE, (19 9 1

1.(5 29 0 _ .
1R PR HIR AR L

(D

(OH[A] [B] [C]

T A A5 L 0 25 P DS N A 2 R D TR (A R T A IR DX SR 2 R TR AL TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL



FEFHBAREMBRSE (+/\)

=i
PE 4
EEER

IO N e e A SR U N AN e R R I T S
B,
2. PR 23 wn S 28 A 28 SR U 5 Sl 0 38 RO S 00 i PR 40
WHME R ERETERS PR TR ELEE.
T I R I A 5 R R 2 A DX A A R R X I A
B B2 SO A B R AR U A R
A PR R T I AT S AR

w

A

5 4

L T (e
H % x 6
TE 2
HEREUR ) EmE=111]

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

—\iﬁﬁi@o (16 57\)

a

o

o

N
—_
o‘g
S

3060 T32 () 3.6 0

3.75x1.02 () 3.75

ZVEFES, (12 5

LL[A] [B] [C] [D]
3.[A1 [B] [C] [D]
5.[A] [B] [C] [D]

2.[A] [B] [C] [D]
4.[A] [B] [C] [D]

1. (10 29
2. (6 %)
0.87X9.6= 1.17X36= 64.64+17.5=
3. (8 %)
26.54+4.5—0.12—12.94 4025X4.25+975X 4. 25
2.5X0.8X0.4X12.5 2.4X1.6+24X0.04
4. (9 )
50—1.5X6=6 x+1.5=6.25 11x—5=50

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

J
=
=




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

5.(3 ) 2. (5 49
6. (6 )
3. (6 4
Mg MEm, (649
BEANBBITEBRAEIT R
Bt [] / Bsf 1 2 3 4 5
AR/ T oK 20 40 50 60 70
EANBBETEBRAEITE
B/ T K (8
80 i
70 2 g B ZEHK JA It i T
60 ik 144 4~ 156 4~ 146 A4~ 139 4~
50 (D
40
30
20
10
0 Ry
1 2 3 4 5 i 1)
(2)
HOFRREIE, (24 5
1. (5 59
T 4% J 0 25 B I B A 2 o B R TR 0 HE R A DX 28 R TE Ak T T 45 JU 1 285 J DX B P A 25, 6 o B 6 TR 0 E R S DX el ) 280 R TE AL



FEFHHAREMBRE (T )

#HERE HEa

HE 44 Ea5 557
EEEM ,

LRI % o0 B B BRI 4 L U N A L OF W A 4% S R I X I,

ALE | |
2. R S A6 UM P 2B B4 B0 5 A i S 4 0 e f

WHE RS E RS TEBT T T Bl % bRl ]
. L 1 00 X B A 102 6 o250 X 03 % =

1 R R 1 B R R R I i

A PREFE R T AT S AR

R IR 7] Enf=]ix

— BT, (27 %)

1.

2.

w

. 4.72%0.99 () 4.72 5.43%1.82 () 5.43

1.oz()1.21 41154 (0.5
0.02 Tk () 20 %k L2m? ()15 dm’

10.

ZVEES, (12 5

L[A] [B] [(C] 2.[A] [B] [C]
3.[A] [B] [C] 4.[A] [B] [C]
5.[A] [B] [C] 6.[A] [B] [C]

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

= WHE#E, (29 %)

1. (6 %)

42.8+85.42=

3.9 49

5.34+x=26.7

4. (8 5

4,85X1.25X8

46.5X99+46.5

150X0. 28= 14—1.345=

ox=20 ox—3.6=21.4

7.2—1.8+6.8X0.5

(455—12.5X4)+8. 1

=)

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR

MM RIER, (6 %)

/%

7

10

11

12

Ly /A

125

128

130

132

138

141

149

160
155
150
145
140
135
130
125

5 v/ K

XXEBRHELRITE

8 9

11

13

=K E, 64
1.

T A A5 L 0 25 P DX PN A 2 S € T i A R DX ) 2 SR TR AL

J

)=

\
/

TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

LY

JEREE, (20 )

7N
1.
2.
3.
4.
TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL
n




TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

e — MY N kY 72 —
% S HMRBRB RIS (1) C wmE ()
o —_ RE o 77
Mk E A
. . 1.[A] [B] [C] [D] 2.[A] [B] [C] [D]
YE 4 e 1351
777777777777777777777777777777777777777777777777777777777777777777777777 3.[A] [B] [C] [D] 4.[A] [B] [C] [D]
EEEW , . .
LT 5 0 T L I BEGE 2 U W A I IS 2 ST R 1 X 3 | 5.LA] [B] [C] [D] 6.LA] [B] [C] [D]
o 7.[A] [B] [C] [D]
2. BRI 5Y TR P 2B 4 MR 5 A e R R 4 0 PR R 6 T |
WHE RS E RS TEBT T T Bl % bRl ]
3. i R 5 45 A0 1 2 X B 04 P 25 22 X 0 4 P
2 % T E SR G R A A AL I O =Gt&E&E, (22 %)
4 RFER I I AT AR . SRR T 53] [0
j SR ) o o] 0 800 L (450
—\iﬁﬁi@o (33 57\)
1.
2. (6 4%
5 15.4+2.97= 6.9X0.31= 100—33. 9=
3.
4.
S.
6. 3.(6 %)
7 2y+91=091 m——0.6=4.5 9x—1.7=25.3
8.
9.
10.0.56x7.8 () 7.8X0. 56 12.3%x1.1 () 12.3X0. 99
2.45%1 () 2.45 3.540 () 3.54+0
S 4% B A 25 K I P PR R L B T 0 HE BRI I 25 R TE Ak TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

J
=
=



TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR

T T A5 L1 20 R DS A 1 2 o S (B TR 00 E B E DX P 2 3R TR A

4. (6 ) 3. (8 4
5. 70 Xl xTK xRk xT K (D
(DI | | ()l | | | |
12. 20 13.6T %
2
M MEB, (649
1F e A A
4. (7 )
B fEREF, (25 5)
1. (54
(D
2. (5%
(2)

T A A5 L 0 25 P DS N A 2 R D TR (A R T A IR DX SR 2 R TR AL

200
180
160
140
120
100

80

B/
B 184 186
- 7
162 7 161
- 77 7]
145
B | 102 103
— A= = JFW FAAHE FExN HAH HM

J
=
=

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL




